Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	
1	115	25.47	4.5151	115.0000	100.00	5 Cannon, Paul

Jan 24

Printed January 29, 2024 at 11:21

L.P. S.C.

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	115	35.19	3.2680	115.0000	100.00	10	Griffiths, Jeremy
2	115	52.58	2.1871	76.9656	66.93	6	Spooner, Wayne
3	115	63.34	1.8156	63.8909	55.56	2	Griffiths, David
4	65	46.10	1.4100	49.6171	43.15	9	Donavon, Chris
5	0	0.00	0.0000	0.0000	0.00	8	Jones, Jason

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	115	32.22	3.5692	115.0000	100.00	1	Davies, Martin
2	115	49.98	2.3009	74.1357	64.47	7	Meddins, Daryl

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	115	36.32	3.1663	115.0000	100.00	4	Jiggens, Mark
2	90	42.95	2.0955	76.1071	66.18	3	Marechal, John

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT		R
1	40	8.09	4.9444	40.0000	100.00	5 Cannon, Pau	ıl

Jan 24

Printed January 29, 2024 at 11:21

L.P. S.C.

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	9.02	4.4346	40.0000	100.00	10	Griffiths, Jeremy
2	40	9.79	4.0858	36.8539	92.13	6	Spooner, Wayne
3	40	10.48	3.8168	34.4275	86.07	2	Griffiths, David
4	40	12.27	3.2600	29.4051	73.51	9	Donavon, Chris
5	40	20.46	1.9550	17.6344	44.09	8	Jones, Jason

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	8.99	4.4494	40.0000	100.00	1	Davies, Martin
2	40	9.16	4.3668	39.2576	98.14	7	Meddins, Daryl

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	10.21	3.9177	40.0000	100.00	4	Jiggens, Mark
2	40	10.55	3.7915	38.7109	96.78	3	Marechal, John

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	
1	40	5.05	7.9208	40.0000	100.00	5 Cannon, Paul

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	4.58	8.7336	40.0000	100.00	10	Griffiths, Jeremy
2	40	4.66	8.5837	39.3133	98.28	9	Donavon, Chris
3	40	5.75	6.9565	31.8609	79.65	6	Spooner, Wayne
4	40	6.88	5.8140	26.6279	66.57	2	Griffiths, David
5	40	13.34	2.9985	13.7331	34.33	8	Jones, Jason

Jan 24

Printed January 29, 2024 at 11:21

L.P. S.C.

PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	OMPETITOR Name
1 40	5.10	7.8431	40.0000	100.00	Davies, Martin
2 40	5.58	7.1685	36.5591	91.40	Meddins, Daryl

Jan 24

Printed January 29, 2024 at 11:21



1	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40 40	4.65 6.07	8.6022 6.5898	40.0000 30.6425	100.00 76.61	4	Jiggens, Mark Marechal, John

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	
1	85	23.81	3.5699	85.0000	100.00	5 Cannon, Paul

Jan 24

Printed January 29, 2024 at 11:21

L.P. S.C.

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	85	29.72	2.8600	85.0000	100.00	10	Griffiths, Jeremy
2	85	35.11	2.4210	71.9510	84.65	9	Donavon, Chris
3	85	41.62	2.0423	60.6968	71.41	2	Griffiths, David
4	85	62.61	1.3576	40.3482	47.47	6	Spooner, Wayne
5	85	65.39	1.2999	38.6328	45.45	8	Jones, Jason

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	85	23.33	3.6434	85.0000	100.00	7	Meddins, Daryl
2	85	30.37	2.7988	65.2963	76.82	1	Davies, Martin

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	85	25.29	3.3610	85.0000	100.00	3	Marechal, John
2	85	35.84	2.3717	59.9791	70.56	4	Jiggens, Mark

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT		
1	45	16.72	2.6914	55.0000	100.00	5 Cannon, Paul	

Jan 24

Printed January 29, 2024 at 11:21

L.P. S.C.

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	45	16.12	2.7916	55.0000	100.00	9	Donavon, Chris
2	45	16.64	2.7043	53.2813	96.88	6	Spooner, Wayne
3	45	29.24	1.5390	30.3215	55.13	10	Griffiths, Jeremy
4	45	38.27	1.1759	23.1670	42.12	8	Jones, Jason
5	20	22.83	0.8760	17.2599	31.38	2	Griffiths, David

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	55	16.64	3.3053	55.0000	100.00	7	Meddins, Daryl
2	50	15.95	3.1348	52.1630	94.84	1	Davies, Martin

Jan 24

Printed January 29, 2024 at 11:21



PTS	S TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1 4		2.7043 2.5937	55.0000 52.7493	100.00 95.91	4	Jiggens, Mark Marechal, John

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	
1	85	27.62	3.0775	85.0000	100.00	5 Cannon, Paul

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	85	38.13	2.2292	85.0000	100.00	6	Spooner, Wayne
2	85	43.37	1.9599	74.7302	87.92	2	Griffiths, David
3	85	44.08	1.9283	73.5265	86.50	10	Griffiths, Jeremy
4	60	32.41	1.8513	70.5893	83.05	9	Donavon, Chris
5	0	0.00	0.0000	0.0000	0.00	8	Jones, Jason

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	85	26.89	3.1610	85.0000	100.00	1	Davies, Martin
2	60	23.61	2.5413	68.3354	80.39	7	Meddins, Daryl

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	85	23.10	3.6797	85.0000	100.00		Jiggens, Mark
2	85	41.75	2.0359	47.0299	55.33	3	Marechal, John

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	100	30.75	3.2520	100.0000	100.00	5 Cannon, Paul

Jan 24

Printed January 29, 2024 at 11:21

L.P. S.C.

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	100	30.40	3.2895	100.0000	100.00	10	Griffiths, Jeremy
2	100	35.02	2.8555	86.8075	86.81	9	Donavon, Chris
3	100	42.03	2.3793	72.3293	72.33	6	Spooner, Wayne
4	100	49.57	2.0173	61.3274	61.33	2	Griffiths, David
5	0	0.00	0.0000	0.0000	0.00	8	Jones, Jason

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	100	27.90	3.5842	100.0000	100.00	1	Davies, Martin
2	100	37.49	2.6674	74.4198	74.42	7	Meddins, Daryl

Jan 24

Printed January 29, 2024 at 11:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	OMPETITOR Name
1	100 100	31.97 32.15	3.1279 3.1104	100.0000 99.4401	100.00 99.44	Marechal, John Jiggens, Mark